

ADVANCES IN BALANCING NUMBERS USING A MATRIX APPROACH

Rachida Mouhoub and Miloud Mihoubi

Communicated by Ayman Badawi

MSC 2010 Classifications: Primary 11B39; Secondary 11B83.

Keywords and phrases: Balancing numbers, Lucas balancing numbers, triangular numbers, recurrence relation, Balancing Q -Matrix.

The authors are indebted to the anonymous reviewers and the editor for numerous constructive suggestions which have greatly improved this manuscript.

Corresponding Author: Rachida Mouhoub

Abstract Balancing numbers and their generalizations have been the focus of considerable research, with previous studies often generating these numbers through linear or nonlinear recurrences. Another approach involves generating balancing numbers via specific matrices. In this paper, we employ a matrix of order 4 to derive new identities for balancing numbers. Additionally, we establish other relations involving co-balancing numbers, expanding the framework for analyzing these sequences.

1 Introduction

The concept of balancing numbers was first introduced by Behera and Panda [1] in 1999 in connection with a Diophantine equation. It involves finding a natural number n such that:

$$1 + 2 + \cdots + (n - 1) = (n + 1) + (n + 2) + \cdots + (n + r)$$

for some natural number r . They called n a balancing number and r the balancer corresponding to n .

An important result about balancing numbers is that B_n is a balancing number if and only if B_n^2 is a triangular number; that is, $8B_n^2 + 1$ is a perfect square. These numbers can be generated by the linear recurrence:

$$B_{n+1} = 6B_n - B_{n-1}, \quad n \geq 1, \quad B_0 = 0, \quad B_1 = 1. \quad (1.1)$$

or by the nonlinear recurrence

$$B_n^2 = B_{n+1}B_{n-1} + 1, \quad n \geq 1. \quad (1.2)$$

For each balancing number B_n , the number $C_n = \sqrt{8B_n^2 + 1}$ is called a Lucas-balancing number [8]. The sequence of balancing numbers has been extensively studied and generalized in various ways [12, 2, 7, 3, 5, 10, 6].

In [11], Ray introduced a second-order balancing matrix Q_B , whose entries are the first three balancing numbers: 0, 1, and 6. He also showed that the n^{th} power of the balancing matrix ($n \in \mathbb{N}$) is given by:

$$Q_B = \begin{bmatrix} B_{n+1} & -B_n \\ B_n & -B_{n-1} \end{bmatrix}.$$

This matrix representation provides an elegant method for deriving relationships between balancing and Lucas-balancing numbers. In this paper, we pose an equivalent problem using a matrix of order 4, with $n \in \mathbb{Z}$, whose entries are balancing numbers and Lucas-balancing numbers.

2 Balancing matrices

Matrices can be used to represent balancing numbers and can be extended to related sequences.

2.1 Balancing Q-Matrices

The concept of Q -matrices was first studied by Charles King [4] in 1960. These matrices play an important role in the study of Fibonacci numbers. More recently, Ray [11] introduced a *balancing Q -matrix* whose entries are the first three balancing numbers: 0, 1, and 6. Motivated by this, we introduce a new balancing Q -matrix, defined by

$$Q_{BC} = \begin{bmatrix} 0 & -1 & 0 & 0 \\ 1 & 6 & 0 & 0 \\ 0 & -1 & 1 & 0 \\ 1 & 3 & 0 & 1 \end{bmatrix}$$

and prove the following main theorem.

Theorem 2.1. *Let Q_{BC} be the balancing Q -matrix given in [4]. Then for every integer $n \in \mathbb{Z}$,*

$$Q_{BC}^n = \begin{bmatrix} -B_{n-1} & -B_n & 0 & 0 \\ B_n & B_{n+1} & 0 & 0 \\ \frac{1}{4}(-B_n + B_{n-1} + 1) & \frac{1}{4}(-5B_n + B_{n-1} + 1) & 1 & 0 \\ \frac{1}{2}(B_n + B_{n-1} + 1) & \frac{1}{2}(7B_n - B_{n-1} - 1) & 0 & 1 \end{bmatrix}. \tag{2.1}$$

Proof. We consider the two cases $n \geq 0$ and $n \leq 0$.

Case when $n \geq 0$: First, we prove the identity

$$\sum_{k=0}^n B_k = \frac{1}{4}(5B_n - B_{n-1} - 1), \quad n \geq 0. \tag{2.2}$$

Indeed, from the recurrence relation (1.1), it follows that

$$\begin{aligned} \sum_{k=0}^n B_k &= B_0 + B_1 + \sum_{k=1}^{n-1} B_{k+1} \\ &= B_0 + B_1 + \sum_{k=1}^{n-1} (6B_k - B_{k-1}) \\ &= B_0 + B_1 + 6 \sum_{k=1}^{n-1} B_k - \sum_{k=0}^{n-2} B_k \\ &= B_0 + B_1 + 6 \left(\sum_{k=0}^n B_k - B_0 - B_n \right) - \left(\sum_{k=0}^n B_k - B_{n-1} - B_n \right) \\ &= 5 \sum_{k=0}^n B_k + 1 + B_{n-1} - 5B_n \end{aligned}$$

from which identity (2.2) follows.

Next, we prove the theorem by induction on n . Since $B_0 = 0, B_1 = 1$ and $B_2 = 6$, the theorem holds for $n = 1$,

$$Q_{BC}^1 = \begin{bmatrix} B_0 & -B_1 & 0 & 0 \\ B_1 & B_2 & 0 & 0 \\ B_0 & -B_1 & 1 & 0 \\ B_1 & 3B_1 & 0 & 1 \end{bmatrix} = \begin{bmatrix} 0 & -1 & 0 & 0 \\ 1 & 6 & 0 & 0 \\ 0 & -1 & 1 & 0 \\ 1 & 3 & 0 & 1 \end{bmatrix}.$$

Assume that the property holds for order n .
 Then, from the recurrence relation (1.1), it follows that

$$\begin{aligned}
 Q_{BC}^{n+1} &= Q_{BC}^n \times Q_{BC}^1 \\
 &= \begin{bmatrix} -B_n & -B_{n+1} & 0 & 0 \\ B_{n+1} & B_{n+2} & 0 & 0 \\ \frac{1}{4}(-5B_n + B_{n-1} + 1) & \frac{1}{4}(-29B_n + 5B_{n-1} - 1) & 1 & 0 \\ B_n + \frac{1}{2}(5B_n - B_{n-1} + 1) & \frac{1}{2}(41B_n - 7B_{n-1} - 1) & 0 & 1 \end{bmatrix} \\
 &= \begin{bmatrix} -B_n & -B_{n+1} & 0 & 0 \\ B_{n+1} & B_{n+2} & 0 & 0 \\ \frac{1}{4}(-B_{n+1} + B_n + 1) & \frac{1}{4}(-5B_{n+1} + B_n + 1) & 1 & 0 \\ \frac{1}{2}(B_{n+1} + B_n + 1) & \frac{1}{2}(7B_{n+1} - B_n - 1) & 0 & 1 \end{bmatrix},
 \end{aligned}$$

it results that the induction step holds.

Case when $n \leq 0$: Assume that the theorem holds for n . Since

$$Q_{BC}^{-1} = \begin{bmatrix} 6 & 1 & 0 & 0 \\ -1 & 0 & 0 & 0 \\ -1 & 0 & 1 & 0 \\ -3 & -1 & 0 & 1 \end{bmatrix}$$

then, from the recurrence relation (1.1) it follows that

$$\begin{aligned}
 Q_{BC}^{-(n+1)} &= Q_{BC}^{-n} \times Q_{BC}^{-1} \\
 &= \begin{bmatrix} 6B_{n+1} - B_n & B_{n+1} & 0 & 0 \\ -6B_n + B_{n-1} & -B_n & 0 & 0 \\ \frac{1}{4}(-30B_n + 5B_{n-1} + B_n + 1) & \frac{1}{4}(-5B_n + B_{n-1} + 1) & 1 & 0 \\ \frac{1}{2}(-42B_n + 7B_{n-1} + B_n + 1) & \frac{1}{2}(-7B_n + B_{n-1} + 1) - 1 & 0 & 1 \end{bmatrix} \\
 &= \begin{bmatrix} B_{n+2} & B_{n+1} & 0 & 0 \\ -B_{n+1} & -B_n & 0 & 0 \\ \frac{1}{4}(-5B_{n+1} + B_n + 1) & \frac{1}{4}(-B_{n+1} + B_n + 1) & 1 & 0 \\ \frac{1}{2}(-7B_{n+1} + B_n + 1) & \frac{1}{2}(-B_{n+1} - B_n - 1) & 0 & 1 \end{bmatrix},
 \end{aligned}$$

which completes the induction step. □

Corollary 2.2. For every integer $n \in \mathbb{Z}$, the following identity holds:

$$B_n^2 - B_{n-1}B_{n+1} = 1.$$

Proof. Let $|Q_{BC}|$ denote the determinant of the matrix Q_{BC} . Then

$$|Q_{BC}|^n = 1 = |Q_{BC}^n| = B_n^2 - B_{n-1}B_{n+1},$$

which proves the identity. □

Corollary 2.3. For every natural number n , the following identity holds:

$$\sum_{k=0}^n B_k = \frac{B_n B_{n+1}}{B_{n+1} - B_n + 1}. \tag{2.3}$$

Proof. By computing the product Q_{BC}^{n+1} with its inverse $Q_{BC}^{-(n+1)}$, we obtain:

$$Q_{BC}^{n+1} \times Q_{BC}^{-(n+1)} = I_d.$$

More precisely, by calculating the product of the $(3, 2)$ -elements, we find

$$-B_{n+1} \sum_{k=0}^n B_k + B_n \sum_{k=0}^{n+1} B_k - \sum_{k=0}^n B_k = 0.$$

This simplifies to:

$$(-B_{n+1} - 1 + B_n) \sum_{k=0}^n B_k + B_n B_{n+1} = 0,$$

from which the relation (2.3) follows. □

Corollary 2.4. *For every natural number n , the following identity holds:*

$$\sum_{k=0}^n B_k = \frac{B_{n+1}(B_{n+1} - 1)}{B_{n+2} - B_{n+1} + 1}. \tag{2.4}$$

Proof. By calculating the product of the third row of the matrix Q_{BC}^{n+1} with the first column of the matrix $Q_{BC}^{-(n+1)}$, we obtain:

$$-B_{n+2} \sum_{k=0}^n B_k + B_{n+1} \sum_{k=0}^{n+1} B_k - \sum_{k=0}^{n+1} B_k = 0.$$

This simplifies to:

$$(B_{n+1} - 1 - B_{n+2}) \sum_{k=0}^n B_k - B_{n+1} + B_{n+1}^2 = 0,$$

from which the relation (2.4) follows. □

Corollary 2.5. *For any non-negative integers m, n , the following identity holds:*

$$\sum_{k=0}^{m+n} B_k = \frac{B_{n+1}(5B_m - B_{m-1}) - B_n(B_m - B_{m-1}) - 1}{4}.$$

Proof. By comparing the $(3, 2)$ -elements in the matrix equality $Q_{BC}^{m+n} = Q_{BC}^m \times Q_{BC}^n$, we obtain:

$$\begin{aligned} \sum_{k=0}^{m+n} B_k &= B_{n+1} \sum_{k=0}^m B_k - B_n \sum_{k=0}^{m-1} B_k + \sum_{k=0}^n B_k \\ &= (B_{n+1} - B_n) \sum_{k=0}^{m-1} B_k + B_{n+1} B_m + \sum_{k=0}^n B_k. \end{aligned}$$

Using the identity from [2]:

$$\sum_{k=0}^n B_k = \frac{-1 - B_n + B_{n+1}}{4}$$

and similarly for $\sum_{k=0}^{m-1} B_k$, we can simplify the expression and derive the required result. □

2.2 Some results obtained by using the characteristic equation of Q_{BC}^n

The roots $\lambda_1 = 3 - 2\sqrt{2}$ and $\lambda_2 = 3 + 2\sqrt{2}$ and $\lambda_3 = 1$ are eigenvalues of the matrix Q_{BC} . It is well known that if λ be an eigenvalue of a matrix A , λ^n is also an eigenvalue of A^n . Therefore, $1, \lambda_1^n, \lambda_2^n$ are eigenvalues of the matrix Q_{BC}^n . To make this result more insightful, we state the following theorem.

Theorem 2.6. *We have:*

$$C_n - \sqrt{C_n^2 - 1} = (3 - 2\sqrt{2})^n,$$

$$C_n + \sqrt{C_n^2 - 1} = (3 + 2\sqrt{2})^n,$$

or equivalently,

$$B_{n+1} - B_{n-1} = \frac{1}{4} \left((3 - 2\sqrt{2})^n + (3 + 2\sqrt{2})^n \right).$$

Proof. Let I denote the identity matrix of the same order as Q_{BC}^n . The characteristic equation of Q_{BC}^n is given by:

$$|Q_{BC}^n - \lambda I| = (1 - \lambda)^2 (\lambda^2 - \lambda(B_{n+1} - B_{n-1}) + 1),$$

where $B_n^2 - B_{n+1}B_{n-1} = 1$ (see [1]) and $B_{n+1} - B_{n-1} = 2C_n$ (see [7]).

Solving the characteristic equation and using Binet's formulas for B_n and C_n (see [8]), we obtain:

$$(3 - 2\sqrt{2})^n = \lambda_1^n = C_n - \sqrt{C_n^2 - 1},$$

$$(3 + 2\sqrt{2})^n = \lambda_2^n = C_n + \sqrt{C_n^2 - 1}.$$

Each of these identities yields the explicit expression of C_n stated in the theorem. □

Proposition 2.7. *For any integer n , the following identities hold:*

$$(B_{n-1} - 2B_{2n-1} + B_{3n-1})(B_{n+1} - B_{n-1} + 1) = B_{4n-1} - B_{3n-1} - B_{n-1} - 1,$$

$$(2B_{2n} - B_n - B_{3n})(B_{n+1} - B_{n-1} + 1) = B_n + B_{3n} - B_{4n},$$

$$(B_{n+1} - 2B_{2n+1} + B_{3n+1})(B_{n+1} - B_{n-1} + 1) = 1 - B_{n+1} - B_{3n+1} + B_{4n+1}.$$

Proof. It is known that

$$P(\lambda) = |Q_{BC}^n - \lambda I| = (1 - \lambda)^2 (\lambda^2 - \lambda(B_{n+1} - B_{n-1}) + 1)$$

and since

$$P(Q_{BC}^n) = 0,$$

we have the matrix equation

$$(Q_{BC}^n - I)^2 (Q_{BC}^{2n} - (B_{n+1} - B_{n-1})Q_{BC}^n + I) = 0.$$

Expanding the expression, we obtain:

$$I - Q_{BC}^n (B_{n+1} - B_{n-1} + 2) + 2Q_{BC}^{2n} (B_{n+1} - B_{n-1} + 1) - Q_{BC}^{3n} (B_{n+1} - B_{n-1} + 2) + Q_{BC}^{4n} = 0,$$

This simplifies to:

$$(Q_{BC}^n - 2Q_{BC}^{2n} + Q_{BC}^{3n})(B_{n+1} - B_{n-1} + 1) + Q_{BC}^n + Q_{BC}^{3n} - Q_{BC}^{4n} = I.$$

By substituting the expressions for $Q_{BC}^n, Q_{BC}^{2n}, Q_{BC}^{3n}$ and Q_{BC}^{4n} from Theorem 2.1, we obtain the desired result. □

For example the number $B_n + B_{3n} - B_{4n}$ can be factored as

$$(2B_{2n} - B_n - B_{3n})(B_{n+1} - B_{n-1} + 1),$$

which shows that this number is never prime.

2.3 Consequences of the identity $Q_{BC}^{m+n} = Q_{BC}^m \times Q_{BC}^n$

Proposition 2.8. *For any integers n and m , we have*

$$B_{m+n+1} = B_{m+1}B_{n+1} - B_mB_n. \tag{2.5}$$

This identity leads to the following relations:

$$\begin{aligned} B_{m+n+1} - B_{m+n} &= B_{m+1}(B_{n+1} - B_n) + B_m(B_{n-1} - B_n) \\ B_{m+n+1} - B_{m+n-1} &= B_{m+1}B_{n+1} - 2B_mB_n + B_{m-1}B_{n-1} \end{aligned}$$

Proof. The identity $Q_{BC}^{m+n} = Q_{BC}^m \times Q_{BC}^n$ gives the following matrix:

$$\begin{bmatrix} -B_{m+n-1} & -B_{m+n} & 0 & 0 \\ B_{m+n} & B_{m+n+1} & 0 & 0 \\ \frac{1}{4}(-B_{m+n} + B_{m+n-1} + 1) & \frac{1}{4}(-5B_{m+n} + B_{m+n-1} + 1) & 1 & 0 \\ \frac{1}{2}(B_{m+n} + B_{m+n-1} + 1) & \frac{1}{2}(7B_{m+n} - B_{m+n-1} - 1) & 0 & 1 \end{bmatrix}.$$

By comparing the likes coefficients from the same sides, we obtain the desired result. □

Proposition 2.9. *For any integer m , we have*

$$B_m \mid B_{2m} \text{ and } B_{2m-1} = B_m^2 - B_{m-1}^2.$$

Proof. From Proposition 2.8 we know that

$$B_{m+n-1} = B_mB_n - B_{m-1}B_{n-1}.$$

Applying this identity to the cases $n = m + 1$ and $n = m$, we obtain:

$$B_{2m} = B_m(B_{m+1} - B_{m-1}) \text{ and } B_{2m-1} = B_m^2 - B_{m-1}^2.$$

This proves the result. □

Proposition 2.10. *For any integer n , we have*

$$B_{2n+1} = B_{n+1}^2 - B_n^2 = (B_{n+1} + B_n)(B_{n+1} - B_n)$$

and

$$B_n^2 - B_{n+1}B_{n-1} = 1.$$

Proof. In Proposition 2.8, setting $m = n$ and $m = -n$ yields the desired results. □

Proposition 2.11. *For any non-negative integers m and n , the following identity holds:*

$$\sum_{k=0}^{m+n} kB_k = B_{m+1}B_{n+1} \left(\frac{B_n}{B_{n+1} - B_n + 1} + \frac{B_m}{B_{m+1} - B_m + 1} \right) + B_mB_n. \tag{2.6}$$

Proof. From Proposition 2.8, we have

$$B_{i+j+1} = B_{i+1}B_{j+1} - B_iB_j.$$

Then, summing over $i = 0, \dots, m$ and $j = 0, \dots, n$, we obtain:

$$\sum_{i,j=0}^{m,n} B_{i+j+1} = \left(\sum_{i=0}^m B_{i+1} \right) \left(\sum_{j=0}^n B_{j+1} \right) - \left(\sum_{i=0}^m B_i \right) \left(\sum_{j=0}^n B_j \right).$$

Equivalently, this can be rewritten as:

$$\sum_{k=0}^{m+n} kB_k + B_{m+n+1} = \left(\sum_{i=0}^m B_i + B_{m+1} \right) \left(\sum_{j=0}^n B_j + B_{n+1} \right) - \left(\sum_{i=0}^m B_i \right) \left(\sum_{j=0}^n B_j \right),$$

which simplifies to:

$$\sum_{k=0}^{m+n} kB_k = B_{m+1} \sum_{j=0}^n B_j + B_{n+1} \sum_{i=0}^m B_i + B_{m+1}B_{n+1} - B_{m+n+1}, \quad m, n \geq 0,$$

Using identity (2.5), we find

$$\sum_{k=0}^{m+n} kB_k = B_{m+1} \sum_{j=0}^n B_j + B_{n+1} \sum_{i=0}^m B_i + B_m B_n, \quad m, n \geq 0,$$

Now, applying identity (2.3), the desired result (2.6) follows. □

Corollary 2.12. *For any positive integer n, we have*

$$\sum_{k=0}^{2n+1} kB_k = \frac{2B_n B_{n+1}^2}{B_{n+1} - B_n + 1} + B_n^2.$$

Proof. This follows by setting $n = m$ in the identity (2.6). □

3 Other results derived from the generating function

Behera and Panda established the generating function for balancing numbers in [1] as

$$g(s) := \sum_{k \geq 0} B_k s^k = \frac{s}{1 - 6s + s^2}. \tag{3.1}$$

This result can also be derived using the matrix method. Consider the matrix

$$I - sQ_{BC} = \begin{bmatrix} 1 & s & 0 & 0 \\ -s & 1 - 6s & 0 & 0 \\ 0 & s & 1 - s & 0 \\ -s & -3s & 0 & 1 - s \end{bmatrix}, \tag{3.2}$$

where I denotes the identity matrix of order 4. The determinant of the matrix in (3.2) is

$$(1 - s)^2 (s^2 - 6s + 1),$$

and hence, its inverse is given by

$$(I - sQ_{BC})^{-1} = \begin{bmatrix} \frac{1-6s}{s^2-6s+1} & \frac{-s}{s^2-6s+1} & 0 & 0 \\ \frac{s}{s^2-6s+1} & \frac{1}{s^2-6s+1} & 0 & 0 \\ \frac{-s^2}{(1-s)(s^2-6s+1)} & \frac{-s}{(1-s)(s^2-6s+1)} & \frac{1}{1-s} & 0 \\ \frac{3s^2-s}{(1-s)(s^2-6s+1)} & \frac{3s-s^2}{(1-s)(s^2-6s+1)} & 0 & \frac{1}{1-s} \end{bmatrix}. \tag{3.3}$$

Now, define

$$G(s) := \sum_{k \geq 0} s^k Q_{BC}^k = (I - sQ_{BC})^{-1}.$$

Using expression (3.3), we obtain

$$G(s) = \begin{bmatrix} \frac{1-6s}{s^2-6s+1} & \frac{-s}{s^2-6s+1} & 0 & 0 \\ \frac{s}{s^2-6s+1} & \frac{1}{s^2-6s+1} & 0 & 0 \\ \frac{-s^2}{(1-s)(s^2-6s+1)} & \frac{-s}{(1-s)(s^2-6s+1)} & \frac{1}{1-s} & 0 \\ \frac{3s^2-s}{(1-s)(s^2-6s+1)} & \frac{3s-s^2}{(1-s)(s^2-6s+1)} & 0 & \frac{1}{1-s} \end{bmatrix}.$$

By comparing the corresponding coefficients from both sides, we retrieve the generating function for the balancing numbers.

Proposition 3.1. *We have*

$$B_n = \frac{1}{4\sqrt{2}} \left((3 + 2\sqrt{2})^n - (3 - 2\sqrt{2})^n \right) = \sum_{k=0}^{\lfloor (n-1)/2 \rfloor} \binom{n}{2k+1} \times 8^k \times 3^{n-1-2k},$$

where $\lfloor x \rfloor$ denotes the greatest integer less than or equal to x .

Proof. From the generating function (3.1), we have

$$\begin{aligned} g(s) &= \frac{s}{1 - 6s + s^2} \\ &= \frac{1}{4\sqrt{2}} \left(\frac{1}{1 - (3 + 2\sqrt{2})s} - \frac{1}{1 - (3 - 2\sqrt{2})s} \right) \\ &= \sum_{n \geq 0} \frac{1}{4\sqrt{2}} \left((3 + 2\sqrt{2})^n - (3 - 2\sqrt{2})^n \right) s^n. \end{aligned}$$

□

Corollary 3.2. *We have*

$$B_{2n} \equiv 3^{2(n-1)} \times 6n \pmod{24}, \quad n \geq 1,$$

$$B_{2n+1} \equiv 9^n \times (2n + 1) + 8^n \pmod{72}, \quad n \geq 3.$$

Moreover, and if $n = p \notin \{2, 3\}$ is a prime number, then

$$B_p \equiv \pm 1 \pmod{p} \quad \text{and} \quad B_{p-1} \equiv -6 \text{ or } 0 \pmod{p}.$$

Proof. From Proposition 3.1, we have

$$\begin{aligned} B_{2n} &= 3^{2n-1} \times 2n + \sum_{k=1}^{n-1} \binom{2n}{2k+1} \times 8^k \times 3^{2(n-k)-1} \\ &= 3^{2n-1} \times 2n + 24 \sum_{k=1}^{n-1} \binom{2n}{2k+1} \times 8^{k-1} \times 3^{2(n-k-1)} \\ &\equiv 3^{2n-1} \times 2n \pmod{24}, \quad n \geq 2. \end{aligned}$$

Similarly, for B_{2n+1} , we have

$$\begin{aligned} B_{2n+1} &= 9^n \times (2n + 1) + 8^n + 72 \times \sum_{k=1}^{n-1} \binom{2n+1}{2k+1} \times 8^{k-1} \times 3^{2(n-k-1)} \\ &\equiv 9^n \times (2n + 1) + 8^n \pmod{72}, \quad n \geq 3. \end{aligned}$$

Moreover, using the following known congruences,

$$\binom{p}{k} \equiv 0 \pmod{p}, \quad 1 \leq k \leq p - 1,$$

$$\binom{p-1}{k} \equiv (-1)^k \pmod{p}, \quad 0 \leq k \leq p,$$

$$k^p \equiv k \pmod{p}, \quad k \text{ is integer,}$$

we obtain

$$\begin{aligned} B_p &= \sum_{k=0}^{\frac{p-1}{2}} \binom{p}{2k+1} \times 8^k \times 3^{p-1-2k} \equiv 8^{\frac{p-1}{2}} \equiv \pm 1 \pmod{p}. \\ B_{p-1} &\equiv -3^{p-2} \sum_{k=0}^{(p-1)/2-1} \left(\frac{8}{9}\right)^k \equiv 3 \times 8^{(p-1)/2} - 3^p \equiv 3(\pm 1 - 1) \pmod{p}. \end{aligned}$$

□

4 Connection with the associated co-balancing numbers

Let b_n denote the co-balancing number k that satisfies the identity

$$1 + 2 + \dots + k = (k + 1) + (k + 2) + \dots + (k + r),$$

for some natural number r . It is known that

$$b_0 = b_1 = 0, b_2 = 2 \text{ and } b_{n+1} = 6b_n - b_{n-1} + 2, n \geq 2.$$

Proposition 4.1. *For any positive integer n , we have*

$$B_n B_{n+1} = b_{n+1} + b_{n+1}^2,$$

and

$$\sqrt{1 + 4B_n B_{n+1}} = 1 + 2b_{n+1}.$$

Proof. We aim to show that $B_n B_{n+1} = b_{n+1} + b_{n+1}^2$. Indeed, observe that

$$\sqrt{1 + 4B_n B_{n+1}} = 1 + 2b_{n+1} \Leftrightarrow B_n B_{n+1} = b_{n+1} + b_{n+1}^2.$$

Using the identities from [7]

$$B_n = \frac{b_{n+1} - b_n}{2}, \quad b_{n+1} = 6b_n - b_{n-1} + 2, \quad (b_n - 1)^2 = 1 + b_{n-1}b_{n+1}, \quad n \geq 2, \quad (4.1)$$

along with identity (1.1), we compute:

$$\begin{aligned} B_n B_{n+1} &= \left(\frac{b_{n+1}}{2} - \frac{b_n}{2}\right) (6B_n - B_{n-1}) \\ &= \left(\frac{b_{n+1} - b_n}{2}\right) \left(3b_{n+1} - 3b_n - \frac{b_n - b_{n-1}}{2}\right) \\ &= \left(\frac{b_{n+1} - b_n}{2}\right) \left(\frac{6b_{n+1} - 6b_n - b_n + b_{n-1}}{2}\right) \\ &= \left(\frac{b_{n+1} - b_n}{2}\right) \left(\frac{6b_{n+1} + 2 - b_{n+1} - b_n}{2}\right) \\ &= \frac{5b_{n+1}^2 - 6b_n b_{n+1} + b_n^2 - 2b_n + 2b_{n+1}}{4}. \end{aligned}$$

Using the identity $(b_n - 1)^2 = 1 + b_{n-1}b_{n+1}$, we substitute $b_n^2 - 2b_n = b_{n-1}b_{n+1}$ to obtain:

$$\begin{aligned} B_n B_{n+1} &= \frac{5b_{n+1}^2 - 6b_n b_{n+1} + b_{n-1}b_{n+1} + 2b_{n+1}}{4} \\ &= \frac{b_{n+1}(5b_{n+1} - 6b_n + 2 + b_{n-1})}{4}. \end{aligned}$$

Now, using the recurrence relation $b_{n+1} = 6b_n - b_{n-1} + 2$, we simplify:

$$\begin{aligned} 5b_{n+1} - 6b_n + 2 + b_{n-1} &= 5(6b_n - b_{n-1} + 2) - 6b_n + 2 + b_{n-1} \\ &= 30b_n - 5b_{n-1} + 10 - 6b_n + 2 + b_{n-1} \\ &= 24b_n - 4b_{n-1} + 12. \end{aligned}$$

Similarly, we compute:

$$\begin{aligned} b_{n+1} + 1 &= 6b_n - b_{n-1} + 2 + 1 = 6b_n - b_{n-1} + 3, \\ 4(b_{n+1} + 1) &= 24b_n - 4b_{n-1} + 12. \end{aligned}$$

Therefore, we conclude:

$$B_n B_{n+1} = \frac{b_{n+1} \cdot 4(b_{n+1} + 1)}{4} = b_{n+1}(b_{n+1} + 1),$$

as claimed. □

Proposition 4.2. *For any integers $k \geq 1$ and $n \geq 0$, the following identity holds:*

$$B_{n+k} = B_{n+k-1} + (1 + 2b_k)B_{n+1} - (1 + 2b_{k-1})B_n.$$

Proof. Using identity (2.3) and the first two identities of (4.1) along with (1.1), we obtain:

$$\begin{aligned} B_{n+k} &= B_k B_{n+1} - B_{k-1} B_n \\ &= \left(\frac{b_{k+1} - b_k}{2}\right) B_{n+1} - \left(\frac{b_k - b_{k-1}}{2}\right) B_n \\ &= \left(\frac{6b_k - b_{k-1} + 2 - b_k}{2}\right) B_{n+1} - \left(\frac{6b_{k-1} - b_{k-2} + 2 - b_{k-1}}{2}\right) B_n \\ &= (1 + 2b_k) B_{n+1} + \left(\frac{b_k - b_{k-1}}{2}\right) B_{n+1} - (1 + 2b_{k-1}) B_n + \left(\frac{b_{k-1} - b_{k-2}}{2}\right) B_n \\ &= (1 + 2b_k) B_{n+1} - (1 + 2b_{k-1}) B_n + B_{k-1} B_{n+1} + B_{k-2} B_n \\ &= (1 + 2b_k) B_{n+1} - (1 + 2b_{k-1}) B_n + B_{n+k-1}. \end{aligned}$$

□

For example, setting $k = 2$ yields the known recurrence relation (1.1).

Conclusion

This paper presented a matrix-based approach to studying balancing numbers, leading to new identities, recurrence relations, and congruences. The use of the balancing Q -matrix provided a unified method for deriving and generalizing results, including connections with co-balancing numbers. These findings enhance our understanding of balancing numbers and suggest directions for future research, such as extending this method to related sequences.

References

- [1] A. Behera and G.K. Panda, *On the square roots of triangular numbers*, The Fibonacci Quarterly, **37(2)**, 98–105, (1999).
- [2] P. Catarino, H. Campos and P. Vasco, *On some identities for balancing and cobalancing numbers*, Annales Mathematicae et Informaticae, **45**, 11–24, (2015).
- [3] R.K. Davala and G.K. Panda, *On sum and ratio formulas for Lucas-balancing numbers*, Palestine Journal of Mathematics, **8(2)**, 200–206, (2019).
- [4] C.H. King, *Some properties of Fibonacci Numbers*, Master’s Thesis, San Jose State College, California, USA, (1960).
- [5] K. Liptai, F. Luca, A. Pinter and L. Szalay, *Generalised balancing numbers*, Indagationes Mathematicae, **20(1)**, 87–100, (2009). [https://doi.org/10.1016/S0019-3577\(09\)80005-0](https://doi.org/10.1016/S0019-3577(09)80005-0)
- [6] P. Olajos, *Properties of balancing, cobalancing and generalized balancing numbers*, Annales Mathematicae et Informaticae, **37**, 125–138, (2010).
- [7] G.K. Panda and P.K. Ray, *Cobalancing numbers and Cobalancers*, International Journal of Mathematics and Mathematical Sciences, **8**, 1189–1200, (2005). <https://doi.org/10.1155/IJMMS.2005.1189>
- [8] G.K. Panda, *Some fascinating properties of balancing numbers*, Congressus Numerantium, **194**, 185–189, (2009).
- [9] P.K. Ray, *Balancing and cobalancing numbers*, PhD thesis, Departement of Mthematics, National Institute of technologie, Bourkela, India, (2009).
- [10] P.K. Ray, *Certain diophantine equations involving balancing and Lucas-balancing numbers*, Acta et Commentationes Universitatis Tartuensis de Mathematica, **20(2)**, 165–173, (2016). <https://doi.org/10.12697/ACUTM.2016.20.14>
- [11] P.K. Ray, *Certain Matrices Associated with Balancing numbers and Lucas Balancing numbers*, Matematika, **28(1)**, 15–22, (2012).
- [12] P.K. Ray and J. Sahu, *Generating functions for certain balancing and Lucas-balancing numbers*, Palestine Journal of Mathematics, **5(2)**, 122–129, (2016).

Author information

Rachida Mouhoub, LA3C Laboratory, Faculty of mathematics, University of Science and Technology Houari Boumediene (USTHB), Algiers 16111, Algeria.

E-mail: rachidamouhoub0@gmail.com

Miloud Mihoubi, RECITS Laboratory, Faculty of mathematics, University of Science and Technology Houari Boumediene (USTHB), Algiers 16111, Algeria.

E-mail: mmihoubi@usthb.dz

Received: 2024-11-07

Accepted: 2025-03-23